A & 0ol & AF S H Al A

A5 E 204 FRESASLEY
& 200 M2l
2 200 FARHLI%Y
& 216 0/ X+l (el &e)
op-g-2 o & o rSJEL=L IR HimEET
ES Al 255,566 260,528 N4,962
200 Al2l4-g) 54,000 56,000 £2,000
210 S&HAI2l = 1,000 2,000 A1,000
216 Ol At==& 1,000 2,000 21,000
216-01 33001 At==¢ 1,000 2,000 1,000
< WSO X2 > 1,000 2,000 1,000
STTOIZ 01X4Y 1,000,002 1,000
230 NYAHZMMN - Rit= 50,000 50,000 0
234 DtEHZ 50,000 50,000 0
234-01 ME2ALE = 50,000 50,000 0
< WSHUEHXIL > 50,000 50,000 0
oF=ZX Lt WEHS 50,000,000 50,000
240 XHAE =g 3,000 4,000 21,000
241 NHAE ¢ 3,000 4,000 A1,000
24101 TR 2] 3,000 4,000 A1,000
< WEUHUHXIL > 3,000 4,000 21,000
oFZXt Bt WEH= 3,000,000& 3,000
700 BRAASULR Y 201,566 204,528 £2,962
710 E8=S 20,000 50,000 230,000
11 L= 20,000 50,000 230,000
711-01 =MAHLH=S 20,000 50,000 /30,000
< WEE X2 > 20,000 50,000 /30,000
SEHAHLI2 20,000, 0002 20,000
720 LHEO1cH 181,566 154,528 27,038
21 ¥e= 181,566 154,528 27,038
721-03 JIEISI AN = 181,566 154,528 27,038
< WSHUEHXIL > 181,566 154,528 27,038
outslN M2 181,566, 0002 181,566
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